	EVALUATION REPORT								
AS PER RULE 35 OF PPRA RULES 2004									
1	Name of Procuring Agency	State Life Insurance Corporation of Pakistan Faisalabad Zone							
2	Method of Procurement:	Tender Notice Single stage-One Envelop							
3	Title of Procurement	Services of "Drinking Water, Photocopies, Cameras, Computer & Printer Repair."							
4	Tender Inquiry No.:	FZ/P&GS/SZM/03/2021							
5	PPRA Ref. No. (TSE):	462511							
6	Date & Time of Bid Closing:								
7	Date & Time of Bid Opening:	09-11-2021 (11:30 A.M)							
8	No of Bids Received	2							
9	Criteria for Bid Evaluation:	Lowest Evaluated							
10	Details of Bid(s) Evaluation:	Detail of Bids is as under.							
Sr.No	Item Description	Ahsan Photostate, Faisalabad	Qarshi Industries PVT Ltd	Lowest Per Unit Cost	Est.Require d Qty	Total Cost Rs.			
1	Services of Photocopies 70 Gram (Copymate)	2.95	-	2.95	350000	1,032,500			
2	Qarshi Natural Mineral Water 19 Litter Bottle or Equivalent	-	180	180	3500	630,000			
TOTAL						1,662,500			

The rate of Photocopies Services placed at Sr.01 is the lowest of M/S AHSAN PHOTOSTATE, FAISALABAD.

The rate of Drinking Water placed at Sr.02 is the lowest of M/S Qarshi Industries (PVT) Ltd.

Any other additional/supporting information, the procuring agency may like to share.....Nill

Official Stamp.....

Signature.....

## **EVALUATION REPORT** AS PER RULE 35 OF PPRA RULES 2004 Name of Procuring Agency State Life Insurance Corporation of Pakistan Faisalabad Zone **Tender Notice Single stage-One Envelop Method of Procurement:** Services of "Drinking Water, Photocopies, Cameras, Computer & Printer **Title of Procurement** Repair." FZ/P&GS/SZM/03/2021 **Tender Inquiry No.:** PPRA Ref. No. (TSE): 09-11-2021 (11:00 A.M) Date & Time of Bid Closing: 09-11-2021 (11:30 A.M) Date & Time of Bid Opening: No of Bids Received **Lowest Evaluated** Criteria for Bid Evaluation: Detail of Bids is as under. Details of Bid(s) Evaluation: Sr.No Zee Digital Wise **Lowest Per** Required **Item Description** Total Cost Rs. Computers, Fsd Computer, Fsd Computer, Fsd **Unit Cost** Quantity Toner Refilling HP 85 A Toner Recycling HP 85 A Printer Service HP-1102 Service for Toner 3015 Toner Refilling HP 3015 Toner Recycling HP 3015 Printer Service HP-301.5 Service in Printer 310/350 Epson Printer LQ-350/310 Pin Repair Epson Printer LQ-350/310 Board Repair Epson Printer LQ-350/310 Bush Repair Epson Printer LQ-350/310 Cable Repair Epson Printer LQ-350/310 Complete Service Service in Printer 2180/2190 Epson Printer LQ-2180/2190 Pin Repair (24) Epson Printer LQ-2180/2190 Pin Repair

Sr.No	Item Description	Zee Computers, Fsd	Digital Computer, Fsd	Wise Computer, Fsd	Lowest Per Unit Cost	Required Quantity	Total Cost Rs.
17	Epson Printer LQ-2180/2190 Board Repair	800	1000		800	30	24000
18	Epson Printer LQ-2180/2190 Bush Repair	450	800		450	20	9000
19	Epson Printer LQ-2180/2190 Cable Repair	100	600		100	20	2000
20	Epson Printer LQ-2180/2190 Complete Service	450	400		400	40	16000
21	Service in CPU						0
22	Replace of Ram for Core 2 do		50	400	50	30	1500
23	Replace of Ram for Core I 3		50	400	50	30	1500
24	Replace of Hard Disk 80,200,300 GB for Core I 3		100	300	100	30	3000
25	Replace of Power Supply		150	500	150	30	4500
26	Window Installation along with drivers, M.S Office, Anti-Virus and Smart Term		500	600	500	30	15000
27	Service of Cameras						0
28	IP Based Configuration		750	500	500	50	25000
29	Digital Cameras Configuration			500	500	50	25000
30	BNC Pins/Adopter			500	500	50	25000
31	Lenses			300	300	50	15000
32	Stand			200	200	50	10000
33	Camera Chip Repair			600	600	50	30000
TOTAL							

M/S Digital Computers, Faisalabad is not submitted CDR, so we reject the quotation.

M/S Zee Computers, Faisalabad is submit less CDR, so we reject the quotation.

M/S Wise Computers, Faisalabad is submit Cameras rate higher as compared to market driven, so we reject the quotation.

Any other additional/supporting information, the procuring agency may like to share.....Nill

Signatur	••		
Signatui	· C	 	 

Sr.No Item Description Zee Digital Wise Computer, Fsd Comp	al Cost Rs.
--	-------------

Official Stamp....